## **SPALDING COUNTY** 2020 LOCAL MAINTENANCE AND IMPROVEMENT GRANT **RESURFACING PROJECT**

FROM: **SPALDING COUNTY** 

**PURCHASING** 

119 EAST SOLOMON STREET

GRIFFIN, GA 30223

TO: ALL BIDDERS OF RECORD

RE: Addendum No. 1, dated June 19, 2020

This Addendum forms a part of the Contract Documents and modifies the original Bidding Documents dated April 26, 2019.

This Addendum consists of two (2) pages. Attached documents include roadway patch measurements consisting of twelve (12) pages.

Add. 1.1 What road or roads are scheduled for the 2" milling and inlay?

> **RESPONSE:** Hosannah Road, approximately 1.24 miles in length.

Add. 1.2 Will the roads receiving 2" milling also receive 220 #/sy of surface mix or 135 #/sy of surface mix per the bid item description?

> **RESPONSE:** Hosannah Road will receive 220 #/sy of surface mix after the milling is complete.

Add. 1.3 What road or roads are scheduled to use asphalt leveling? Will it be full width leveling or spot leveling?

> **RESPONSE:** It is assumed that each road in the project may require leveling in some

> > areas. The contractor will coordinate with Spalding County personnel to

determine areas where spot leveling may be needed.

Add. 1.4 On Birdie Road on each side of the SR 3 Expressway, there are traffic signal detector loops in the asphalt. Will we stop the overlay short of the loops or will we overlay out to the edge of the expressway? If we resurface over them, they will likely need to be replaced?

> RESPONSE: Asphalt overlay on Birdie Road will stop short of the GDOT signal loops.

Add. 1.5 *Is Spalding County going to rebuild the shoulders on the roads without curb? Who will be responsible for the Low/ Soft shoulders signs?* 

RESPONSE: Spalding County Public Works will rebuild road shoulders as needed and supply low/soft shoulder signs where appropriate.

Add. 1.6 The existing rumble strips appear to be thermoplastic. Does the County want to replace as thermoplastic?

RESPONSE: The contractor shall replace the existing rumble strips with thermoplastic paint.

Add. 1.7 What will be the process for the side road and driveway tie ins? Paver gate width or other?

RESPONSE: Paver gate width is allowed for the side road and driveway tie-ins.

Add. 1.8 It appears that areas to be patched have been marked. Is there a list of the patches that can be provided to the bidders?

RESPONSE: A list of roads with the related patch measurements are attached.

Add. 1.9 Will the county require high build paint (i.e. new specification) for this project?

RESPONSE: Yes. Spalding County will require high building paint for pavement markings.

Add. 1.10 Who will be responsible for Construction Signage (i.e. contractor or county)?

RESPONSE: The contractor is responsible for all signage related to construction and traffic control.

Add. 1.11 Will the ends of the resurfacing require milling for tie-in or will the contractor feather the mix at the transition?

RESPONSE: The contractor is expected to feather the asphalt mix at the transition. No

milling is required at the tie-in locations.

Add. 1.12 Clarification: Spalding County may choose to reduce the patch areas based on the bid prices submitted due to budget limitations.

End of Addendum No. 1

	Hosannah Rd.	Length / Width of Patch	Length / Width of Patch
1	Mill and Inlay 2"		
2			
3			
4			
5			

	Stephens St.	Length / Width of Patch	Length / Width of Patch
1	No patching required		
2			
3			
4			
5			

	W. Ellis Rd.	Length / Width of Patch	Length / Width of Patch	Area
1	Westbound	41	12	492
2	Westbound	117	7	819
3	Westbound	126	12	1,512
4	Westbound	153	7	1,071
5	Westbound	39	7	273
6	Westbound	112	12	1,344
7	Westbound	55	7	385
8	Westbound	336	12	4,032
9	Westbound	60	12	720
10	Westbound	66	7	462
11	Westbound	163	12	1,956
12	Westbound	206	7	1,442
13	Westbound	419	12	5,028
14	Westbound	133	7	931
15	Westbound	89	7	623
16	Westbound	52	12	624
17	Westbound	410	7	2,870
18	Westbound	68	12	816
19	Westbound	110	7	770
20	Westbound	140	7	980
21	Westbound	25	7	175
22	Westbound	42	7	294
23	Westbound	43	7	301
24	Westbound	364	7	2,548
25	Westbound	82	7	574
26	Westbound	129	7	903
27	Westbound	185	7	1,295
28	Westbound	182	7	1,274
29	Westbound	51	12	612
30	Westbound	305	7	2,135
31	Westbound	66	7	462
32	Westbound	60	12	720
33	Westbound	78	7	546
34	Westbound	51	12	612
35	Westbound	66	7	462
36	Westbound	388	7	2,716
37	Westbound	36	7	252
38	Westbound	54	7	378
39	Westbound	30	7	210
40	Westbound	62	12	744
41	Westbound	35	7	245

	W. Ellis Rd.	Length / Width of Patch	Length / Width of Patch	Area
42	Westbound	51	12	612
43	Westbound	88	7	616
44	Westbound	201	7	1,407
45	Westbound	152	7	1,064
46	Westbound	158	7	1,106
47	Westbound	57	7	399
48	Westbound	51	12	612
49	Westbound	176	7	1,232
50	Westbound	154	7	1,078
51	Westbound	121	7	847
52	Westbound	37	7	259
53	Westbound	15	7	105
54	Westbound	108	7	756
55	Westbound	29	7	203
56	Westbound	70	12	840
57	Westbound	76	7	532
58	Westbound	80	7	560
59	Westbound	30	7	210
60	Westbound	139	7	973
61	Westbound	36	12	432
62	Westbound	97	7	679
63	Westbound	43	7	301
64	Westbound	163	7	1,141
65	Eastbound	166	7	1,162
66	Eastbound	94	7	658
67	Eastbound	130	7	910
68	Eastbound	62	12	744
69	Eastbound	108	7	756
70	Eastbound	113	12	1,356
71	Eastbound	63	7	441
72	Eastbound	122	12	1,464
73	Eastbound	111	7	777
74	Eastbound	46	7	322
75	Eastbound	292	7	2,044
76	Eastbound	39	7	273
77	Eastbound	64	7	448
78	Eastbound	162	7	1,134
79	Eastbound	28	7	196
80	Eastbound	179	7	1,253
81	Eastbound	63	7	441
82	Eastbound	24	12	288

	W. Ellis Rd.	Length / Width of Patch	Length / Width of Patch	Area
83	Eastbound	86	7	602
84	Eastbound	167	7	1,169
85	Eastbound	26	7	182
86	Eastbound	31	7	217
87	Eastbound	50	7	350
88	Eastbound	36	7	252
89	Eastbound	113	7	791
90	Eastbound	85	7	595
91	Eastbound	90	7	630
92	Eastbound	177	7	1,239
93	Eastbound	122	12	1,464
94	Eastbound	76	7	532
95	Eastbound	105	12	1,260
96	Eastbound	67	7	469
97	Eastbound	46	7	322
98	Eastbound	70	12	840
99	Eastbound	77	7	539
100	Eastbound	36	12	432
101	Eastbound	41	7	287
102	Eastbound	32	7	224
103	Eastbound	305	7	2,135
104	Eastbound	349	7	2,443
105	Eastbound	48	7	336
106	Eastbound	133	7	931
107	Eastbound	50	7	350
108	Eastbound	43	7	301
109	Eastbound	49	12	588
110	Eastbound	35	7	245
111	Eastbound	81	7	567
112	Eastbound	83	7	581
113	Eastbound	52	7	364
114	Eastbound	40	7	280
115	Eastbound	57	7	399
116	Eastbound	46	7	322
117	Eastbound	32	7	224
118	Eastbound	63	12	756
119	Eastbound	72	7	504
120	Eastbound	84	7	588
121	Eastbound	332	7	2,324
122	Eastbound	808	7	5,656
123	Eastbound	244	7	1,708

	W. Ellis Rd.	Length / Width of Patch	Length / Width of Patch	Area
124	Eastbound	39	7	273
125	Eastbound	89	7	623
126	Eastbound	91	12	1,092
127	Eastbound	56	7	392
128	Eastbound	37	7	259
129	Eastbound	297	7	2,079
130	Eastbound	108	7	756
131	Eastbound	435	7	3,045

	Azalea Dr.	Length / Width of Patch	Length / Width of Patch	Area
1		38	7	266
2		68	1	68
3		88	7	616
4		43	7	301
5		123	7	861

	Lakeside Dr.	Length / Width of Patch	Length / Width of Patch	Area
1	Southbound	147	7	1,029
2	Southbound	533	12	6,396
3	Southbound	32	12	384
4	Southbound	70	12	840
5	Southbound	214	12	2,568
6	Southbound	359	7	2,513
7	Southbound	721	12	8,652
8	Southbound	652	7	4,564
9	Southbound	265	12	3,180
10	Southbound	613	7	4,291
11	Southbound	293	7	2,051
12	Southbound	22	7	154
13	Southbound	414	7	2,898
14	Southbound	40	7	280
15	Southbound	112	12	1,344
16	Southbound	70	12	840
17	Southbound	109	7	763
18	Southbound	59	7	413
19	Southbound	102	7	714
20	Southbound	420	12	5,040
21	Southbound	170	7	1,190
22	Southbound	238	12	2,856
23	Southbound	142	12	1,704
24	Southbound	119	7	833
25	Southbound	194	12	2,328
26	Southbound	80	7	560
27	Southbound	52	12	624
28	Southbound	298	12	3,576
29	Southbound	77	7	539
30	Southbound	45	7	315
31	Southbound	40	7	280
32	Southbound	72	12	864
33	Southbound	22	7	154
34	Southbound	33	7	231
35	Northbound	42	12	504
36	Northbound	33	12	396
37	Northbound	82	12	984
38	Northbound	84	7	588
39	Northbound	60	12	720
40	Northbound	195	7	1,365
41	Northbound	46	7	322

	Lakeside Dr.	Length / Width of Patch	Length / Width of Patch	Area
42	Northbound	153	12	1,836
43	Northbound	223	7	1,561
44	Northbound	94	12	1,128
45	Northbound	139	7	973
46	Northbound	187	7	1,309
47	Northbound	52	12	624
48	Northbound	111	7	777
49	Northbound	109	7	763
50	Northbound	60	7	420
51	Northbound	75	7	525
52	Northbound	176	12	2,112
53	Northbound	30	7	210
54	Northbound	132	12	1,584
55	Northbound	417	12	5,004
55	Northbound	83	7	581
55	Northbound	454	12	5,448
55	Northbound	212	7	1,484

	Biride Rd.	Length / Width of Patch	Length / Width of Patch	Area
1	Eastbound	72	7	504
2	Eastbound	84	7	588
3	Eastbound	332	7	2,324
4	Eastbound	808	7	5,656
5	Eastbound	244	7	1,708
6	Eastbound	39	7	273
7	Eastbound	89	7	623
8	Eastbound	91	12	1,092
9	Eastbound	56	7	392
10	Eastbound	37	7	259
11	Eastbound	297	7	2,079
12	Eastbound	108	7	756
13	Eastbound	45	7	315
14	Eastbound	124	7	868
15	Eastbound	577	7	4,039
16	Eastbound	100	7	700
17	Eastbound	81	12	972
18	Eastbound	116	7	812
19	Eastbound	95	7	665
20	Eastbound	244	7	1,708
21	Eastbound	214	7	1,498
22	Eastbound	326	12	3,912
23	Eastbound	78	7	546
24	Eastbound	442	7	3,094
25	Eastbound	124	7	868
26	Eastbound	132	7	924
27	Eastbound	28	12	336
28	Eastbound	676	7	4,732
29	Eastbound	407	7	2,849
30	Eastbound	148	7	1,036
31	Eastbound	126	7	882
32	Eastbound	206	12	2,472
33	Eastbound	98	7	686
34	Eastbound	28	12	336
35	Eastbound	814	7	5,698
36	Eastbound	71	7	497
37	Eastbound	256	7	1,792
38	Eastbound	74	7	518
39	Eastbound	28	12	336
40	Eastbound	90	7	630
41	Eastbound	84	7	588

	Biride Rd.	Length / Width of Patch	Length / Width of Patch	Area
42	Eastbound	600	7	4,200
43	Eastbound	69	12	828
44	Eastbound	273	7	1,911
45	Eastbound	706	7	4,942
46	Eastbound	83	7	581
47	Eastbound	328	7	2,296
48	Eastbound	198	12	2,376
49	Eastbound	57	12	684
50	Eastbound	95	7	665
51	Eastbound	62	7	434
52	Eastbound	42	12	504
53	Eastbound	65	7	455
54	Eastbound	417	7	2,919
55	Eastbound	31	7	217
56	Eastbound	76	7	532
57	Eastbound	108	12	1,296
58	Eastbound	52	7	364
59	Eastbound	121	12	1,452
60	Eastbound	26	7	182
61	Eastbound	224	12	2,688
62	Westbound	231	7	1,617
63	Westbound	74	12	888
64	Westbound	84	7	588
65	Westbound	88	12	1,056
66	Westbound	150	7	1,050
67	Westbound	29	7	203
68	Westbound	174	7	1,218
69	Westbound	59	12	708
70	Westbound	32	7	224
71	Westbound	55	7	385
72	Westbound	30	7	210
73	Westbound	39	7	273
74	Westbound	93	7	651
75	Westbound	312	7	2,184
76	Westbound	139	7	973
77	Westbound	56	7	392
78	Westbound	87	7	609
79	Westbound	92	12	1,104
80	Westbound	268	7	1,876
81	Westbound	284	12	3,408
82	Westbound	112	7	784

	Biride Rd.	Length / Width of Patch	Length / Width of Patch	Area
83	Westbound	359	7	2,513
84	Westbound	36	12	432
85	Westbound	188	7	1,316
86	Westbound	67	7	469
87	Westbound	37	12	444
88	Westbound	115	7	805
89	Westbound	257	12	3,084
90	Westbound	77	7	539
91	Westbound	138	7	966
92	Westbound	545	7	3,815
93	Westbound	112	7	784
94	Westbound	174	12	2,088
95	Westbound	231	7	1,617
96	Westbound	169	7	1,183
97	Westbound	133	7	931
98	Westbound	270	7	1,890
99	Westbound	711	7	4,977
100	Westbound	60	12	720
100	Westbound	323	12	3,876
100	Westbound	92	7	644
100	Westbound	138	12	1,656
100	Westbound	84	12	1,008
100	Westbound	413	7	2,891
100	Westbound	163	12	1,956
100	Westbound	25	7	175
100	Westbound	53	12	636
100	Westbound	545	7	3,815
100	Westbound	128	7	896
100	Westbound	398	7	2,786
100	Westbound	78	7	546
100	Westbound	346	7	2,422
100	Westbound	113	7	791
100	Westbound	80	7	560
100	Westbound	169	7	1,183
100	Westbound	198	7	1,386
100	Westbound	28	7	196
100	Westbound	88	7	616
100	Westbound	137	7	959
100	Westbound	370	7	2,590